Tuesday, December 1, 2020 8:43 AM

4.6.46) Findthe dimentions o o cylindec 0¥ volume Am
St it hos minimal epgt 1 F the moteciol on the 4o
C«M\:\e Cn\‘\r\dﬁ" oSt Jtimes s muweh o
+he  sides '

gb\hl l o\ _ \,-asn“zh -—>7 _
s l\\ '
| |

Find atea of  topbottom, & side parts.
Area o +op & bottom cre T each
Onthe «ides «ne qreo & 2yrh
T¥ cis the total cost & Sig the cost
0% the moatesiol on the atdes <hen -
C=3ire?) +3s ) + 8 _@rrh) & Zveciabes

oamonane of maot N omoxnt 0£ nat on Scel
on +op & bottom cost o woatecial an {1des
walciple d \2)3 S Efed\\t) Smc;\\ nu\m\oe(\/

teatly o3 9 nabend

| 4,
S Q= Asad) 43D 4 SC2xe (T )
LQ'_—_‘;\GSCU‘Z) + S CZ/W C\Nﬁkmw -t\\g-t RS PSR c = c&)

\ "N

de .  \2smMr- 23/
ac v Y
A

Kaow C)C\?‘B:D

Se then  as

- 1o S\(l
¢ low 14 44
Pete = Y ( \(1 ) A 8 a0 - U_s
A+l <L+
- L -1
2 W X Yl i) ~ B0X +C
—

£(Xo) + £(X1)+-~- + f(YN-\B

—_—

—_—

R (%D R+ FKa

—m—
—— D

—————

—————

Sop\ing 1) Use Ry opprovimatsy to  Find  Area wnder groph o EAFTZZSNG) o
EO)T‘J. = \

S(Cl V) Exl)\(‘z_l U.--V E\ZN—\)\LN‘:\

Saln |
— R~ n o

wWont to wiite gres as Riemann Suwn
N“

inn Z\J DYy :?CX\)-H)

N
=0 4
— FIght end pE IS %)
Wi ot s Step K22 wemns
DYy = b-o
~ A= \-b. )
’i’ Z-
o- { —S
o \/Z 1
E\/en)b ctS put  the interwal  Ta,bd into N pi€ces
ax =10 - 1
N N 3 ’
25t S
[o, AT v T, St TNl v T /‘\’, SR
X\'): CX'\';)B% Ao =A = %)-&\:' o\ EYTQ)L\\L

4\ 7

State out Gtce
Leah (ntero) odd AX \
Becaeful of (ndex o0 sum (Dnis & tlae (& T gtere ok 3:0)

L But e Jg‘(L\ftS o< 4 +“\hen
\A\\ = att C\)ol\ﬁ% ]

\(l: a + (\-2YDK=4
N—\ N’\
Qi PR = Ln < T R () BY)
N) J = \
VR \\2 NP e N
. O.;NQO N’?—\ My (2280 [(ymax‘)B
N-= =
_ Q,\N;D Mi TL/NLZ% S\(\( (,\\\ DK 3>
N

=)
D) VUse My CPproximnGtion €O approx C\<a wnder —the cwive oF  tonfx)
over Co.3, 6-71]

My = middle  C\pproxim ation LY, Xyrad
Ny WY ameddle o the interval
=) 4 Yy 2
Dim N . VTR
i Sy * (’_i,/
3=
=) T s Lb-0 _ -03
\ pxs b-0 . 0.9 ]
R LR E T
SO 0% > Nyt 034500+ 93+ (RIDBY
J > = \
= 0.6 «+ (;)_d—»’DmA
gB

L

N,leo Ji_-g (‘2‘%) Qi (6-%+ Cy\'\%)hx)

N
= &‘g;b %L°-ﬁ§—&an (03+( A) %)
y=
: ~N R
= QU 'S (e ten (034 (=228
3=

5133

Fihd N \ é__
N DD é N

Seln) WNe ace o'\ns,) to wiite €this a8 o Riemonn Sum to get i
nto ao ‘m+e3©a\,

Q\Cmcmﬁ Suwn LooKs Qiwe

N
E\A oy @ Gy i C¥Xy, ¥4 ] ]

=4
J b

‘ A
Lets ques, A= ‘A -
e N >~ |Buess N
D \Wone (R 1= Y Gy=2/N
~/

> PO - (O

@h N j ¢ X=2/N)

N ( \
> Qi on 2\ N J\= Ohe*
N’)OQ J:' o:‘_| ) Y
5= R
B NP oo (=1 “
L =29 G /=0
) — o .. _— ¥
O TR = >hS oy
Retonn som of {1 &0 o2l —
1
NS dx
L)
Area under +the Sogd % Ji-x* Prow> x=0 +o0 3
&« ey of o cicc\e
abL,\C.SS =2 '
Xz‘h\/)zzl -
%2:1_5(2
= 2 -
PNiea urder 9 di-x
ths
S\ r,_, ‘Oz\i\""z x tobe n Co,11]
. \'XL
O
Afeq 0# Q C\U\C\H‘er 'S 7(_,('7_/1‘" Cc:\) = -j(‘/q_s



